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NECAP 2006 RELEASED ITEMS
GRADE 7 READING 

6.3.1 Shows breadth of vocabulary knowledge through demonstrating understanding of word meanings and 
relationships by identifying synonyms, antonyms, homonyms/ homophones, or shades of meaning

6.3.2 Shows breadth of vocabulary knowledge through demonstrating understanding of word meanings and 
relationships by selecting appropriate words or explaining the use of words in context, including content 
specifi c vocabulary, words with multiple meanings, or precise vocabulary

ID:226914 D Common

There was a minor change to the rules that 
did not affect the outcome of the game.

q Which sentence uses the word minor as it is 
used in the box?

A. A minor was not permitted to attend the 
meeting without an adult.

B. Many professional baseball players started 
out in the minor leagues.

C. In music class, they discussed major and 
minor notes.

D. The traffi c jam was minor, and we were 
able to get to school on time.

ID:226920 C Common

w The time of departure is the time you 
will _____ your trip.

A. prepare for

B. return from

C. leave for

D. recover from
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NECAP 2006 RELEASED ITEMS
GRADE 7 READING

6.5.2 Analyze and interpret elements of literary texts, citing evidence where appropriate by describing 
characters’ traits, motivation, or interactions, citing thoughts, words, or actions that reveal characters’ traits, 
motivations, or their changes over time

6.3.2 Shows breadth of vocabulary knowledge through demonstrating understanding of word meanings and 
relationships by selecting appropriate words or explaining the use of words in context, including content 
specifi c vocabulary, words with multiple meanings, or precise vocabulary

ID:226840 A Common

e In paragraph 2, the word cropping means

A. eating.

B. tossing.

C. drinking.

D. catching.

ID:226841 B Common

r In paragraph 3, what did Running Crane 
mean when he said, “We make a fi ne pair, 
horse”?

A. They worked well as a team.

B. Each needed something the other had.

C. Each depended on the other for support.

D. They looked good together as horse and 
rider.

Standoff
Literary Text
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NECAP 2006 RELEASED ITEMS
GRADE 7 READING 

6.3.1 Shows breadth of vocabulary knowledge through demonstrating understanding of word meanings and 
relationships by identifying synonyms, antonyms, homonyms/ homophones, or shades of meaning

6.4.1 Demonstrate initial understanding of elements of literary texts by identifying or describing character(s), 
setting, problem/ solution, or plot, as appropriate to text; or identifying any signifi cant changes in character or 
setting over time

ID:226844 D Common

t Running Crane gives the stallion grass to eat 
because he

A. feels sorry for the stallion.

B. wants to befriend the stallion.

C. knows the stallion is afraid.

D. hopes to distract the stallion.

ID:226851 A Common

y A synonym for the word barrier is

A. wall.

B. stream.

C. barn.

D. branch.

Standoff
Literary Text
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NECAP 2006 RELEASED ITEMS
GRADE 7 READING

Standoff
Literary Text

6.4.1 Demonstrate initial understanding of elements of literary texts by identifying or describing character(s), 
setting, problem/ solution, or plot, as appropriate to text; or identifying any signifi cant changes in character or 
setting over time

ID:226860 Common

u How does the stallion’s behavior change from the beginning of the passage to the end? Use details 
from the passage to support your answer.

Scoring Guide:

Score Description

4
Response provides a thorough explanation of how the stallion’s behavior 
changed from the beginning of the passage to the end. Response 
includes relevant details from the passage.

3
Response provides an explanation of how the stallion’s behavior changed 
from the beginning of the passage to the end. Response lacks some 
relevant details from the passage or is not fully developed.

2
Response provides a partial explanation of how the stallion’s behavior 
changed from the beginning of the passage to the end. Response uses 
limited details from the passage.

1 Response is vague or minimal.

0 Response is totally incorrect or irrelevant.

Blank No response

Training Notes:

• At fi rst, the stallion tried to kill Running Crane.
• Then the stallion was afraid of Running Crane because of the ropes.
• Finally, the stallion began to approach Running Crane and drank water from 

Running Crane’s shirt.
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NECAP 2006 RELEASED ITEMS
GRADE 7 READING 

SCORE POINT 4

Response provides a thorough explanation of how the character’s behavior changed throughout the passage 
and includes relevant details.
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NECAP 2006 RELEASED ITEMS
GRADE 7 READING

SCORE POINT 3

Response provides an explanation of how the character’s behavior changed throughout the passage and 
uses some details and support.
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NECAP 2006 RELEASED ITEMS
GRADE 7 READING 

SCORE POINT 2

Response provides a partial explanation of how the character’s behavior changed throughout the passage 
and uses limited details.
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NECAP 2006 RELEASED ITEMS
GRADE 7 READING

SCORE POINT 1

Response is vague or minimal.

SCORE POINT 0

Response is totally incorrect. 
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NECAP 2006 RELEASED ITEMS
GRADE 7 READING 

6.4.1 Demonstrate initial understanding of elements of literary texts by identifying or describing character(s), 
setting, problem/ solution, or plot, as appropriate to text; or identifying any signifi cant changes in character or 
setting over time

6.4.1 Demonstrate initial understanding of elements of literary texts by identifying or describing character(s), 
setting, problem/ solution, or plot, as appropriate to text; or identifying any signifi cant changes in character or 
setting over time

ID:226838 D Common

i Running Crane could not get a drink from 
the spring because the

A. water was unsafe to drink.

B. stallion drank all the water.

C. spring was too far away.

D. stallion blocked the way.

ID:226850 B Common

o Running Crane uses the cottonwood tree to

A. fi nd the location of the water.

B. protect himself from the stallion.

C. provide food for the stallion.

D. hide the ropes from Wolf Eagle.

Standoff
Literary Text
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NECAP 2006 RELEASED ITEMS
GRADE 7 READING

6.5.3 Analyze and interpret elements of literary texts, citing evidence where appropriate by making inferences 
about cause/effect, external confl icts (e.g., person versus person, person versus nature/society/fate), or the 
relationship among elements within text (e.g., how the historical era infl uences the characters’ actions or 
thinking)

6.5.3 Analyze and interpret elements of literary texts, citing evidence where appropriate by making inferences 
about cause/effect, external confl icts (e.g., person versus person, person versus nature/society/fate), or the 
relationship among elements within text (e.g., how the historical era infl uences the characters’ actions or 
thinking)

ID:226856 B Common

a Which word best describes the relationship 
between Running Crane and the stallion at 
fi rst?

A. supportive

B. clashing

C. gentle

D. uninterested

ID:226855 A Common

s The main confl ict in this passage is between

A. Running Crane and the stallion.

B. Running Crane and himself.

C. the stallion and the ropes.

D. the stallion and the ravine.

Standoff
Literary Text



11NECAP_2006_Grade7_Reading_V2_Released

NECAP 2006 RELEASED ITEMS
GRADE 7 READING 

6.5.2 Analyze and interpret elements of literary texts, citing evidence where appropriate by describing 
characters’ traits, motivation, or interactions, citing thoughts, words, or actions that reveal characters’ traits, 
motivations, or their changes over time

ID:226858 Common

d What does the reader learn about Running Crane from this passage? Use details from the passage to 
support your answer.

Standoff
Literary Text

Scoring Guide:

Score Description

4
Response provides a thorough explanation of what the reader learned 
about Running Crane from the passage. Response includes relevant 
details from the passage.

3
Response provides an explanation of what the reader learned about 
Running Crane from the passage. Response lacks some relevant details 
from the passage.

2
Response provides a partial explanation of what the reader learned 
about Running Crane from the passage. Response uses limited details 
from the passage.

1 Response is vague or minimal.

0 Response is totally incorrect or irrelevant.

Blank No response

Training Notes:

• He is brave because he attempted to get by the stallion even though he knew 
the stallion wanted to kill him.

• He is persistent, or not willing to give up, because he continues to try after 
initially failing.

• He is clever, or smart, because he thinks of different ways to try to get by the 
stallion.

• Thoughts, words, or actions that reveal traits, motivations, and such include, but 
are not limited to: alone, thirsty, fast runner, tricky, sly, clever, has good memory, 
etc.
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NECAP 2006 RELEASED ITEMS
GRADE 7 READING

SCORE POINT 4

Response provides a thorough explanation of what the reader learned about the character from the passage 
and includes relevant details.
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NECAP 2006 RELEASED ITEMS
GRADE 7 READING 

SCORE POINT 3

Response provides an explanation of what the reader learned about the character from the passage, with 
some details and support.
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NECAP 2006 RELEASED ITEMS
GRADE 7 READING

SCORE POINT 2

Response provides a partial explanation of what the reader learned about the character from the passage, 
with limited details.
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NECAP 2006 RELEASED ITEMS
GRADE 7 READING 

SCORE POINT 1

Response is vague or minimal.

SCORE POINT 0

Response is totally incorrect.


